



Nom: _____

Date: _____ Note: _____

$$\left(\frac{2}{5}\right)^2 - \frac{1}{6} =$$

$$\left(\frac{3}{4}\right)^0 + \frac{1}{6} =$$

$$\left(\frac{1}{2}\right)^3 - \left(-\frac{1}{3}\right) =$$

$$\left(-\frac{1}{4}\right)^3 - \frac{1}{2} =$$

$$\left(\frac{1}{2}\right)^2 + \left(-\frac{1}{4}\right) =$$

$$\left(-\frac{1}{5}\right)^2 - \left(-\frac{1}{4}\right) =$$

$$\left(\frac{1}{3}\right)^3 - \frac{1}{5} =$$

$$\left(-\frac{1}{3}\right) + \frac{3}{5} =$$

$$\left(\frac{1}{4}\right)^3 - \frac{1}{3} =$$

$$\left(\frac{1}{2}\right)^2 - \frac{1}{6} =$$

$$\left(\frac{3}{4}\right)^0 - \frac{2}{5} =$$

$$\left(-\frac{1}{2}\right)^2 + \left(-\frac{1}{6}\right) =$$

$$\left(-\frac{3}{4}\right) - \frac{2}{5} =$$

$$\left(-\frac{3}{4}\right)^3 - \left(-\frac{2}{5}\right) =$$

$$\left(-\frac{1}{6}\right) + \frac{3}{4} =$$

$$\left(\frac{1}{4}\right)^3 - \left(-\frac{2}{5}\right) =$$

$$\left(-\frac{1}{4}\right)^0 - \frac{1}{5} =$$

$$\left(\frac{1}{2}\right)^3 - \frac{1}{5} =$$

$$\left(-\frac{1}{3}\right) - \left(-\frac{1}{3}\right) =$$

$$\left(-\frac{1}{5}\right)^3 + \left(-\frac{2}{5}\right) =$$



Nom: _____

Date: _____ Note: _____

$$\left(\frac{2}{5}\right)^2 - \frac{1}{6} = \left(-\frac{1}{150}\right)$$

$$\left(\frac{3}{4}\right)^0 + \frac{1}{6} = \frac{7}{6} = 1\frac{1}{6}$$

$$\left(\frac{1}{2}\right)^3 - \left(-\frac{1}{3}\right) = \frac{11}{24}$$

$$\left(-\frac{1}{4}\right)^3 - \frac{1}{2} = \left(-\frac{33}{64}\right)$$

$$\left(\frac{1}{2}\right)^2 + \left(-\frac{1}{4}\right) = 0$$

$$\left(-\frac{1}{5}\right)^2 - \left(-\frac{1}{4}\right) = \frac{29}{100}$$

$$\left(\frac{1}{3}\right)^3 - \frac{1}{5} = \left(-\frac{22}{135}\right)$$

$$\left(-\frac{1}{3}\right) + \frac{3}{5} = \frac{4}{15}$$

$$\left(\frac{1}{4}\right)^3 - \frac{1}{3} = \left(-\frac{61}{192}\right)$$

$$\left(\frac{1}{2}\right)^2 - \frac{1}{6} = \frac{1}{12}$$

$$\left(\frac{3}{4}\right)^0 - \frac{2}{5} = \frac{3}{5}$$

$$\left(-\frac{1}{2}\right)^2 + \left(-\frac{1}{6}\right) = \frac{1}{12}$$

$$\left(-\frac{3}{4}\right) - \frac{2}{5} = \left(-\frac{23}{20}\right) = \left(-1\frac{3}{20}\right)$$

$$\left(-\frac{3}{4}\right)^3 - \left(-\frac{2}{5}\right) = \left(-\frac{7}{320}\right)$$

$$\left(-\frac{1}{6}\right) + \frac{3}{4} = \frac{7}{12}$$

$$\left(\frac{1}{4}\right)^3 - \left(-\frac{2}{5}\right) = \frac{133}{320}$$

$$\left(-\frac{1}{4}\right)^0 - \frac{1}{5} = \frac{4}{5}$$

$$\left(\frac{1}{2}\right)^3 - \frac{1}{5} = \left(-\frac{3}{40}\right)$$

$$\left(-\frac{1}{3}\right) - \left(-\frac{1}{3}\right) = 0$$

$$\left(-\frac{1}{5}\right)^3 + \left(-\frac{2}{5}\right) = \left(-\frac{51}{125}\right)$$